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1. Plot V,,; and Ips as a function of Vin, as Vin goes from —oo to +0o. Determine the coordinates of each

break point in the plot. Assume a constant-voltage diode model and By = R, = 1kQ.
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5. Determine the maximum allowable value of 3 if (1 must not enter saturation. Assume the current source

isideal, V4 = oo, and s = 8 x 10716 A,
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3. Compute the input impedance of each circuit assuming V4 = oo. O
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4. Determine the region of operation of each transistor. Assume a threshold voltage of 0.5 V for NMOS

devices and —0.5 V for PMOS devices.
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5. Calculate the voltage gain of each circuit. Assume A # 0 for (a) but A = 0 for (b).
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6. Plot V,,: and V4 as a function of V;,, as Vin goes from —oo to +00. Assume Rp =3kQand R; = 1kQ,
and use a constant-voltage model for the diode. Also, assume an ideal op amp.
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